o u|onu| oLt e

Ao ohE xfAX o2 HE 1

T2 O|HH|3HsE FABIALO|SH "FAEE Bhe= 2020 H 08 & 20 & HZ[E PAFFBI0M EE Ho=
ofgfier 0| At=g S ZoStASLICE oo &8 M 232 = 8 A 439 =0 W2t {2t oo HES
SAstL| At UAe A HAXHM = or2fo] 7[xet 0|2 XE 7|2t L MBo=

0|o|& Hl=dt

2
™
>
N
-
m
I~
o

-t e -
1. X2 g2 WE
(1) A= H20 AR @ AtZg el H¥st & FFIH] A2
() A2 Z2o] W 7|YA HEF 1,476,000 F(HHIHA 5000 ) ol F 22
172l 2% 5000 ¥ol EEFAS 13T 8 35510 ;= A @Ot AZpohct
3) A= Ha = A2y W TAFY 5
T E s M PN p g H| 1
FAF(F) 22,476,000 = 21,000,000 = 1,476,000 F Z2
HES(H) 143,712,000,000 & 136,332,000,000 & 7,380,000,000 & Zta

O] 0|l 2= 6,266400FE At7|FA22 OiR5t0, 0|22 StRASLIC

|
olsto] HFAO| HH FU2 HY At=gut SO CH

e
M
L)
Hu

2. XA A™EY 2020 08 E 20 Y

3. XjAHX} ole M=
- 0|9 M= CHA MAEX}F : 2DU@R020E 08 21Y) HXY AL k{2 B X}
- 0l9 MZE 7|7t : 20204 08¥ 21Y ~ 20204 09E 22¢
- 0|9 HE HA

AN2Al 7 HAXZ 100 A|DLMER S 85 2= L|oiH|ztst M2f7|2§(02-6961-3412)

2020 08¥ 21¢

ST NH|BFEE T34}
MatdE o4



